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UNIT-3: Quadratic Equations and Inequalities

If &, P are the root of a quadratic equauon X2 —3x+5=0
then the equanon whose roots are (% — 3o +7) and

(B2 - 3B +7)is

(A)x2+4x+1=0 (B)x2-4x+4~—~0

(C)x? 4x-1=0 (D)x% +2x+3=

If &, B are root of the equanon x2 — 5x + 6 =0 then the
equation whose roots are o+ 3 and B +3 is
(A)x2-11x+30=0 (B) (x-3)P-5(x-3)+6=0
(C) Both(A) and (B) (D) none

If a, p, q are non-zero real numbers the two equations
2a2x2 - 2abx + b2 = 0 and p2x2 + 3pqx + q2 = 0 have

(A) No common root

(B) One common root if 2a% + b? = p? + ¢

(C) Two common roots if 3pq = 2ab

(D) Two common roots iff 3gb = 2ap

Ifa>b> 0 are two real numbers, the value of

TR e
\/ab+(a—b) ab+(a—b)yJab+(a—byab+.... is

(A) Independent of b (B) Independent of a

(C) Independent of both A and B

(D) Dependent on both Aand B

The equation x* + (1 + 2sin0) x +sin26 (smO c0s8) =0 has
roots of equal magnitude but opposite signs for

(A) Only one valug of & (B) Only two values of B
(C) Infinitely many values of 8 (D) No value of 6

The number of solutions of the equation
4x(x—-3)-5!2x-3|+13=0is

(A1 (B)2 ©)3 (D)4
The quadratic expression 21 + 12x— 4x? are
(A) The lcast value § (B) The highest value 30

(C) The highest value 21 (D) None of these
The rootsof x2—38 [x|+12=0

(A) Do not form a progression

(B) Form anA..P. with Zero sum

(C) Form an A.P. with non-zero sum
(D)FormaGP.
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The quadratic equation with real coefficients one of whose
complex roots has the real part 12 and modulus 13 is
(A)x2-12x+13=0 (B)x2-24x+13=0
(C)x2=24x+169=0 (D)x2—24x—-13=0

The quadratic equation

(3 +sin0) X2+ (2 cos 0) x +2 —sin B =0 has

(A) Equal roots for all ©

(B) Real and distinct roots for all 6

(C) Complex roots for all 6

(D) Real or complex roots depending upon 6

Ifa, b, c are real and a # b, then the roots of the equation 2
(a-b)x2—11(a+b+c)x—3(a—b)=0are—

(A) real and equal (B) real and unequal

(C) purely imaginary (D) none of these

The quadratic expression 21 + 12x —4x takes

(A) the least value 5 (B) the greatest value 30

(C) the greatest value 21 (D) none of these
If sin*0+cos*0=>1, 0<B<x/2,then—
(A) x € (—=2,2] (B) x €[-2,2]
© xe[-11] (D) x €[2,%°]

The number of positive terms in the expansion of
(1-2x+x3)" (1 +x+x2).x>0andn e Nis
(A)n (B)n+1

(C)2n+1 (D)(n+1)(2n+1)

i
If sinx + cosx = ‘f)"*’;,xelos"‘],then

(A)x=n/4 (B) x=n2

C)x=n/ (D)x=3n/4

The inequalities y (—1)=—4, y(1)<0 and y(3) =5 are
known to hold for y=ax2 + bx + ¢ then the least value of 'a'
is
(A)—1/4
(C) 1/4

(B)-1/3
(D) 118
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UNIT-3: Quadratic Equations and Inequalities
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Ifthe roots of the equation, x+p X+q = 7 areequal
in magnitude but opposite in sign then p+ q is equal to
(A} r (B} 2r

{Cy (1123 (D) none of these

The roots of the equation x? —~2+/2x+ 1=0are  (2010)
{A) Real and different (B) Imagmary and different
{C) Real and equal (D) Rational and different

Ifp and g are roots of the equation x? — 2x + A=0and rand
s be roots of the equation x>~ 18x+B=0ifp<q<r<s
be in A.P., then A and B are respectively —

(A)-3,77 (B)3,77

(Cy3,-77 (D) none of these

Ifthe roots of equation x* + bx +ac=0 are &, B and roots
ofthe equation x* +ax + be = () are o, y then the value of

3, & respectively -
(Aya,b ¢ (B)b,c,a
(Cjec,a,b (D) none of these

Ifthe quadratic equations ax? + 2cx + b = and
ax® + 2bx +¢ =0 (b+ ¢) have a common root, then
a+4b+deisequal to—

(A)-2 (B)-1

(Cyo (D)1

The value of m for which one of the roots of

%% - 3x + 2m = 0 is double of one of the roots of

x2—x+m=0is
{A} 0’ 2- [:B} {]: = 2
(C)2,-2 (D) none of these

Ifthe expression x* — 11x + a and x? - | 4x + 2a must have
a commeon factor and a # (), then, the common factor is —
(A)(x-3) (B)(x—6) (2009)
(C)yix—8) {D) none of these

Ifthe roots of the equation x> +3x +2=0and x2-x + A=
0 are in same ratio then the value of & is given hv-
(A)2/7 (B)2/9

(C)92 (D72

The sum of all real roots of the equation
[x-2]2+|x=-2] -2=0,is-
(A0

(Ch4

(B)8

(D) none of these
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The minimum value of £{x)} = x* — Zbx + 2c2 is more than the
maximum value of g (x) = -x2 - 2cx + b, x being real, for—

(A} |c|<|b|+2 (B) 0 <c<by2

(C)lc|> b2 D) b2<e<0

Ifthe roots of x* —bx + ¢ = 0 are two consecutive integers,
then b* — dc is —

(A)D (B)2 ©)3 (D) 1

If a, b, c are non-zero real numbers, then two equations
2a%%%— 2abx +x% = 0 and ax® + bx — ¢2 = [ have

(A} no commeon root (B) two comrmon roots

(C) one common root if a > 0 (D) no common root ifa = 0
Leta, b, ¢ € Rand ax®+ bx + ¢ = 0 has two negative roots,
then — (2008)
{A)a,b, care of samesign (B)a, -b, ¢ are of same sign
(C)a, b, —are of same sign (D) a, - ¢ are of same sign
The equation 7% =—2x2 + fix ~ 9 has —

{A) one solution (B) two solutions

(C) infinite solutions (D) no solution

Number of integral values of x satisfying the inequality

[ 5, )
Lploma23a)
3? J_[3 : };"ﬂare

(A)2 (B) 6 8 (D 10
S +lox—S1 .

(2x-3) (x+4) L if % satishies

(A) x<=4 (B)-3=x=32

(C)x =572 () all the above
MNumber of solution for the system of inequalities

x+lox+2,

X-15 2% (2007)
(A)1 (B) 2 ©3 (Do

%X _3x+2320
x-x2 4220
(B)[1, 1]w {2}

(D=1, 17+ §2}

Selution for the system of inequalities ; {

(A)[-1,1]u {2}
(C)[1,-1]w {2}




